-
- >
-
- -
ol -
-
—
-~
- o~
—
- -

= . -HETSPEL—
T Inzet 1, 2,5, 10,20, 41
_ «Fruitwins op 10 winli
« 4 vleermuizen in zig
- met extra grote prij

*» AFMETINGEN: 222 cm/ 100 y

= o~
- - - oS
< s e S
- b
S - S
< LSS ~
S N
~ ~ . ~ =
- -
-—— . - =
~
. o™

~ ~

Ilabdud Wil

/s‘qgsnf\nmlj\m ;

& o 5 5 r—
5 (0 (Om——© © 5 O——0 =)

|~ e

_&== [a0) [80

= == bl =) () () () — f = hfifi,?, r,pf\o @ o “ s (:D v e
== i = = = =t R depSi s ™

JERL

- —

= ettt

|
-

m -:;»:w:w:}

e . —
oy

”

iy -

- ; -

e el f LI - e




